£SF7E2H23H

BRI EHHE

FUTHIE
ToTHRE

IHE4 IERE SRR EEBIA)
WERICHRIY M 3,000 3,300
BEDOH 8,000 8,800
UHF-BS7>TTBRYfTIT

IHEA IHERE @A) SHEBA)
UHF 7 T A RR—ZXIY 1T I+ B —=X-RE@s—TIIL1I0mET 17,000 18,700
UHF7> T+ BB ERY i B —=X-BE#sr—TI)IL10mET 30,000 33,000
UHF7 T EBIRBRERY 1+ X®BT7Uoh—BIRADEHE ([EEF) 6,000/ 6,600
BS/CSTUTHRIVARFIRYMIT | EBH—X-RE#7—TIL10mET 20,000 22,000
BS/CS7 T HEmEY T+ B —X-RE@T—TL10MmET 23,000 25,300
BS/CS7VT+EIRE HBM—X-RAEMsr—TIL10MmET 33,000 36,300
S ECRRERY (T

IHEA IHERE =B EHE®BA)
SMECRRERY fF(F BRA25 B 5,000 5,500
S ECRRERY fF(F BRAS S 6,000 6,600
S ECRRERY £ (F BRA4S B 7,000 7,700
SECEFRIRY AT BRASSH IS 8,000 8,800
SECERIRY T BN A 9,000 9,900/
S ECRRERY 1 (F BSA25 e 8,000 8,800
SECERIRYAT I E5 A3 EER 9,000 9,900
S ECRRERY (T EB5R4DEES 10,000 11,000M
SECERERY AT ESAS5 B ER 11,000 12,100
S ECRRERY (T ESN A6 R 12,000 13,200
T—RE—WY I+

IEA IERE B A SHE(BA)
UHFR7—R4—EY {F1T B —K 17,000 18,7004
UHF+BS+CSH7—X4—mY{tiT |H#H—K 30,000 33,000
xanlii!

| T Dt @A) EE®BA)

AR ITEZSETHVWVEEEIMIMNEEA 5,000 5,500
ZEE =5 - BiTE - RB) -R e - R - EH fEF iR

XEHE

LiLst

1kmé7=4) 20

1kmdp7-Y22H




REBAMY T IE

fREASR R Y T

IH4 T DOt 'R EEBA)
fREARERUYISIL - 1,000 1,100
fREAZR E Y 11+ BMIE5E - BRITEEIE 3,500 3,850
Ao Y 1T NHITEC-BEKITEITH®E 6,500 7,150
=) TBY T EEBYFFE47 1,000 1,100
7 DEREARYSIL - 2,500/ 2,750M
T7oDEWEARY 1+ B 3% - BRIELAE 4,500 4,950M
BERIZH®OE) B (3 Al - = P (3 Al ik 500/ 550
Z0fth

B T Ot =E@A SE(BA)

AR TEZSETHVVEBEEEIMNEEA 5,000 5,500
REE =G - BT - RS- k) - R -BRE - £ 38 3
TEE EELS 1km@p1=Y20M| 1kmdpf=Y22M
AVt RNRAYFIE
AAYyF - atU DR

IHR4A T Ot &5 SE(Fd)
A YF - 10,000 ~ 11,000 ~
oVt MER - 10,000 ~ 11,000 ~
oVt 3 - 5,000/ ~ 5,500 ~
HRAEREHRTE = HER 15,000/ ~ 16,500/ ~
HIYF2V T Havtek 20A-100V 20,000/ ~ 22,000/ ~
HIYFx T RHavtek EER 20A-200V 20,000/ ~ 22,000/ ~
HYy*> S Ravtevk EER 30A-200V 25,000 ~ 27,500/ ~
HYYF2 o Aavtevk ELbL B 28,000 ~ 30,800 ~
SERXBIE - 30,000/ ~ 33,000 ~
IJFa—MHERIE - HREY HREY
Z0th

m B T Dt SEHA) SE(HBA)

HIEH TEZSETHEVVEEEMOMNEEA 5,000 5,500
REE S BT R ) - R P - R - EF i3 3 5

XEHE

EsEList

1kmdp7=Y20M

1kmdp=Y22M




TN IE

BmIm

TEA Tt EE(BLA) SEE(Frid)
B FEmRYSL - 3,000/ ~ 3,300 ~
BRFEIY B A& - R TR IX A& 6,000/ ~ 6,600 ~
BAFELSE - 1,000/ ~ 1,100 ~
BAERTIREZIRHE

IHEA Tt &R ')
BAERREERIRREE - 5,000 5,500
BAZERAEFELERLS T 4,000 4,400
AERSIEERREEERE B A& - BRTRIX A& 30,000 33,000
A albyk

IEA Tt SEE@A) SEE(Fid)
o+ abybBRYSL - 4,000 ~ 4,400 ~
DA ALy RRY FIF B ILAE - BRI ST A& 7,000/ ~ 7,700 ~
DA ALY S B - 1,000/ ~ 1,100/ ~
ZDfth

f B sk i @A) SEFA)

R ITHEZSETHWVESEINNFEFEA 5,000 5,500
ZEE U5 - BT - R 8RR - %011 - R oh - BRIR - B i3 R

XEE

L&t

1kméh =Y 20MH

1kmdpf=Y22H




	電気工事

